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. Practice Test I

:’ Structure | %% A’,T

Directions; Each problem consists of an incomplete sentence. Four words or phrases,
marked (A), (B), (C) and (D), are given beneath the sentence. You are to choose
the one word or phrase that best completes the senténce.
1{/ Dick went home his shoes.
(A for changing
(B) to changing
%Lto change
(DO for change
g. The United States is that there are five time zones.
(A) much big
(B) so big
(C) too big
(D) very big
8. Flight 19 from New York to Washington is now arriving at .
1 : -—
~ ‘(A) gate two
o ) @ the gate two
- .
(C) the two gate$
(D) second gate

. P

4. A seventeen-year-old person is Mot to vote in an election.
old 3 dwe yohe
Eo enough _,57 J‘/C&, éﬂ am A
(B) enough old :
(C) as old enough : 2
(D) enough old as o ”

0‘3. President Reagan’s doctor suggested that he a short rest at Camp David.
(A)' took

(B) would take



(C) take
(D) takes
Cﬁ. The observation desk at the World Trade Center any other one in New
York. .
1 (A) is highest than
(B) is highest that
Q) is higher than
(D) is higher that
p7. Gredt changes have taken place
(A) after 1970
(B) in 1970
(C) for 1970
(Q_) since 1970
& He;lry and Bady to the parties at the Trade Union every Satprday.
gf\l\are used to go
(B) use to go
@ used to go
(D) were used to go /' W,
% .All of the people at the c%r'lfeﬁe are
¢ —
(A) mathematic teachers '
(B) /x;lathematics teachers »
(C) mathematics teacher
(D) mathematic’s teachers
%IA Most Americans don’t object them.by their firs‘t names.
* (A) that I call : ’
@ to my calling -
(€) for calling
(D) that I am call
. Frankly, I'd rathey, you anything about it for the time being.
(A) do
(B) didnt do -
(C) don’t
(D) didnt
—_ 2 —
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¥

lp My sister has a baby.

T (A) two-months-old
(B) two-months-olds

(C) two-month-olds

: (‘EZ’! two-month-old «

& You here for the night.

(A) had better not to stay
(B) had not better stay
(C) had better not say .
(D) had better stay not
. The food in the cafeteria tastes
(A) badly
- (B) too badly
(C) more bad
(D) bad.

5. Jerry has never had a good education, ?
Napul _—_

(A) doesnt he
(BY has he-
(C) hasn* he
(D) does he

. Mary knows that John has ——money. .

(A) very little ~
Wy
@) so little a
(CY very!few
(D) so few
7. The Consumer Price Index lists .
(A) how much costs every car

&(‘/5 how much every car costs

(B) how much does cvery car cost ﬂ‘ a

(D) how much is every car cost.

)8. His friends are looking forward
\ (A) of seeing
(B) for seeing

him as scon as possnble.

Z,%M%



V(C) to see

\('D)" to seeing »

E\é:_ry man and woman-

(A) have to

(B) hasto .

(C) have .
(D) has

bring some fresh water here.

. Most of the students here will probably go abroad

s

A

(A) next year -
(B) in next year
(C) at next year

(D) on next year

Tom was seen tennis with Mary yesterday.

(A) played \
(B) plays }\ '}’ '
\(CY to play

(\15) play

The, young couple bought
(A} some new furniture
(B) some new furnituEs
(C) many new furni 1

(D) many new furnitures

23. have a dripk.
woul ather not

(B) woul not rather
(C) had rather not
(D) had not rather

for'their living room.

Ak

‘My watch not work Well and it . %

A) needhto be repaired
(B) needs to repair

. Ly n::_gd__s_ repairing

(D) need repairing

05. Professional people apprecia'te
— 4

™ pecl Rt

when it is necessary to cancel An appoint-

A ‘\)
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ment. /
(A) you to call them >

- & »?
(B) that you would call them -ﬁj‘ | 7:’1
(C? your cailing them
(D) that you are calling them

726, . Neptune is an extremely cold %lanet, and . -

(A) so does Uranus
_(Bé'" so is Uranus
(C) as has Uranus

(D) Uranus so @
27. Maggie Lena Walker an insurance banking executﬂlg, and spent her

28.

¢

9.

4

30.

entire life in Richmond, Virginia.
(A) and was brought up

(B) brought up with

(C) who was brought up

(D) was brought up

Unlike most Europeans, many Americans bacon and eggs for breakfast...
every day. ’

(A) used to eating KV’/\

(B) are used to eat

L)
(C) are used to eatin ‘{i % v «) M~
(D) used to eat t 3‘2 . %l l}“%d}

We had hoped the game, but the other team played very well. -l& o

(A) State University to win j_t_ f ﬁ % a%'
(B) that State University would win R
(C) that State University win '
(D) State University’s winning
Sam knows a biologist owns a well-equipped laboratory.
A) whom
(8) who
(C) by whom
(D) to whom
By five o’clock this evening the spaceship eight times round the wortt,

= LR R



(A) has been travelling
(B) is to travel )
(C) having been travelled .
(}3)‘ will have travelled
32 the chemistry test, John decided to work harder than ever at this daily

assignments. ‘ ‘ ) %/ Le/

(A) Having failed W ‘Q,ﬂ, ‘3(1

(B) To have failed L%JOV
Aemishl é

(D) Because he has failed i

(C) Failing
£.33. The miners stopped . . and listeﬁo:d for sounds of danger.
(A) to work
(B) worked
(_C} working
(D) for working
$34. 1 have two dictionaries,; one is a Chinese-English dictionary, and is an
e English-Chinese one.
(A) another
(B) the other
(C) other

(D) the another ‘yﬁ' @ , ‘ B

&;\chﬂd in the first grade tends to be all of the other children in his class. .
’L -

) the same old to
(B) as old like
(C) the samie age than
(D) the same age as
. Most foreign students don’ like American coffee, and
(A) Idont toe '
(B) neither don't 1
(C) either dont 1
\(\D)fneimer do1
37. Itis i{nportant that the TOEFL Office your registration.
T(A) confirm %ﬂ' 435
= < XK ’
—f — . .

k.
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(B) will confirm
(C) confirms
(D) must confirm -

8, The plants would have grown all right uy/she them.
T‘ (A). hadn’t watered
(B) hasn’t watered
LGP didn't water
(D) don*t water
39. I’m sure your parents will be with your progress.
(A) please Lo [ l w‘n\/ 1,2
(B) pleasing ?
(ﬁl - pleased

(D) to please
&& John _ a tiger until he'ten

(A) dldn’t see
hadn’t seen

Gt ﬁ% ahith

(D) hasn't seen
Usage |
Directions; In“problems 41—60 each sentence has four underlined words or phrases.
The four underlined parts of the sentence are marked (A), (B), (C)and (D). Identify
the one underlined word or phrase that must be changed in order for the sentence to be
correct.

41. In its Sealab program, the United Statm Navy has studied the possible of having
A

people live beneath the ocea?:
D | e
42. Group decisions can be done either consciously or unconsciously.
A ... B C D
43. &g creatures are remarkably diversified in their sizes and shapes.
A N B C D
44. The emphu:zms in oratory is on the skillful utilization of the voice.
4 f \@ S B C D
5,9&1153 : Texas has become a national bub of bank, fashion, manufacturing, trla)de
A B ©

s
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46.

47.

48.

49.

50.

51.

52.

53.

54.

and transportation. A

Ll

Between 1913 and 1916, journalism and lecturer Ida Bell Well-Barnett served as
A B

a probation officer for the Chicago municipal court.

C D .
Classification is a useful approach to the organization of knowledge‘ in any field.
A N B c ' D
Inland canals are used to shipRing farm and factory goods to hearby towns or sea-

A B C D
ports. ’ [
Nearly half of the ancient meteor craters hg been found in central and eastern
A . : B C ‘D
Canada.
The instructor had gone over the probiems many times before the students will take
A B C D

the final examination.

Encyclopedia may be used to answer question ;, to solve problems, or to obtain
' A "B C

information on a particular topic.
D ) A

W. H. Auden’s subtle use of everyday “nonpoetic” language and coversational
A B

rhythms great influence modern society.

) e
Sciéntists and economists believe that human beings can never use a‘w all the
A B . C
mineral resources on earth.
D . .
The term “social interaction” refers particularly to contact between persons what de-
A B C D

pend on egch other.

55. Since their high vitamin and low calorie, mushrooms are included in certain diets.
A B C D

P~ - B

56. Magazines provide the wide variety of information and entertainment.
A B C D
57. There was _a very interesting news on the radio this morning about the earthquake
A - B ’ 1 -“" C D
in Italy. :

58. Accounting is described as art of classifying, recording and reporting signiftcant fi-

A B C
— 8 —

g

R §



nancial events.
D

59. The Hall of Fame was established and founded with help of a gift from Hellen
A B C D

Miller Gould.

60. A letter of credit is often used gtbi»Companiw to finance the movement of goods be-
A B C D

tween countries.



’\ 1. He seldom to the movies.
e ad ! e
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“Practice Test 1

*

Structure

Directions; Each problem consists of an incomplete sentence. Four words or phrases,
marked (A), (B), (C) and (D), are given beneath the sentence. You are to choose
the one word or phrase that best completes the sentence.

(A)" goes ‘
(B) went

(C) is going

(D) has gone

% Mary isn’t going to buy that book and . M)C
(3 he doesn’t either H@ . % 14 %o lﬁwg
(B) sois he

(C) heisnt too gAY f
(D) neither is he
U. 1;1 computer programming, this model is superior any of the others we
have in the department.
(A) than
(B) in
n (\(j Y to
(D) at
. John and Tony are both very learned, but Harry is the one.
gR(A)'/cleveust
(B) cleverer
(C) more clever
(D) very clever .
Do you know ?
(A/) what time the meeting starts
(B) what time starts the meeting



(C) what time does the meeting start
(D) what time the meeting to start

D?; Last week he promised that he @ut he hasn’t arrived yet.

. (A) will come
(B) is coming
(C) would have come

(D) would come

. lam very disappointed the result of the experiment.

(A) for
(B) from
{CY with
(D) in
. It ig necessaty you present at the meeting.
(A) be
(B) could
(C) may
(D) will _
\ The last man the sinking ship was the captain.
77 (A) left
(B) to be leaving
QC) to leave
2 (D) leaves
@ He wasn’ to understand the teacher’s questions.
(A) quickly enough A
. . (B) enough quickly
(Cf quick enough
(D) enough quick
@. A friend came to see me yesterday.

(A) of me
(B) of mine
(C) for mine
¢ (D) for me m?\ }
62. -Mﬁ;;:r_e:}____hete, but not y’m re.
e ————
%,



